1. Jitiss B OSER DAL

e T — HERMBTEA R $25.12.25 EEAFHH $39.04.01
b PP S IS T IER IS R
FFATR S HiEh FeE B ORI SORHMEUN AR
- W 64 13:1 U #Headonmbe O KEILEFERE LALH EES 2N kR
b # 32 25:1 O ERARBHES L O Mkl Bmpe| | 2729 | &M 3,150 [ | && 1,050 [
fi 53 - - O saemamsmams: O B EiRemb MlgE| i - M| K - H
& i - - O e ta R O Fbaitimdhmbe| | s Smiks (Fl1E) 9 JE (9.4%)
B % E - - O] ~&H BRI A BlAT R R E R H8.4.1
it 96 -
Rk EH ORI
Wbt DS HIS A | sk e | [ O ARy O NICU-FRg = v Y G O Fe
995 e W6 53¢ 4IE it F 6,310 i O A& A HEBHERE IR O HwRET a vk O At
BOE I B o &R A (4UK) O ICU-CCU [ B (b ip) 2 O e Y Zii A = hERER
D R A - O itk B #17—%% @ 5 HE
6 T8 PR ] FE bl e IR O fwhatE 4 e B iHehlg s
ICU IS o =vh O =4 v Ea O BEscAs e
] =%k | |cCcU IS ZOMETIEEE R
A NE 2.0 Al [NICU % MR TRRE IS A 2 —ZOF LRI
O kst - iRl - Al|piIcU K IR TR R w2 Bs O |BFHLT
@ R 1.0 A Arersy O F—HITVATA
@ sE 2.0 A AR OB IR AL O fEfEEE O Zofh ( )
v AR - A|| FERE 9 BRSE M R ORIRED)
@ it s B - A|| 2F |—i(64) &R (32) 5 R R AR D AR AR
U KB ORER - A 1 | T—T L ek
O FElwE AR - A IF \5hode (R, S48 /N M) 1 |l
v IR# - A BHE ER., R, FIHiE, 1 |EEEZeEEE
O FHWVAZHE - A XHRA S, UNE U SR EL 1 |XBTLeipitE
O et - A MEE AR L E
O - R o s R - A TR BRI ERE 1
@a mIVE - A 1 |=rva—2 iR i (CT)
A zofh - A Tos SR SRS I g 4 5 25 1 (MIRT)
7t 9 IR RALH 5.0 A UFL—ar L H—
T —ar AT
RERRE S (N J93 PR BRI 3 BT AL UFL—ar AR —
Al 5.0| HHHRREFT 29| 40BKAKd 1 w| 55~59K B 1 | SRR s
BN 59.5| BT 3.9 40~44FF | 60K LLE 1 Wi NLEHrakE
SEFI A 29/ = o fit  1o|| 45~a95k it AT
M 13.7 50~54% Wifi: 7t 2 iy R A
Fa R 1.0 7t 89.9 O DIV TR = I g
REDNEB 1 |TLA—H—
E RO e BRI (24.5.1814E, A, %) 2AZREH | 3RSHRHH /HERR | 3R /AR O e NV /A
X 4 |8 BB R TR A W3 OA 2 W 3 A 2 BB
= #E Lk 5.7 7.5 1.8 76.3 A Hfi A Hfi; A B R 1 S D 4 B RS
Jiti % T 4 7 3| 57.1 A Hfr A Hfr A i SR e
TRETR IR
TR RENE T4 ONE 1 | FUAVKHRIE {5 LR A
W AR Z i XkaarE (M, H) 1|
= fifi EZFY IREFRI S DT E2 EE420080/100 NAFY—=F— )L
TN 200,000~ H B g 2= &
[EHfiE 2 F 24 50,0001 P9 1 |'BEERTER
Bl T 30,000~300,000 B EE
R R E#ETY EREE 11512,900 RN TR i
TRACE  11913,300 1| i BR G-k
Fefifi HErHEFY 1[712,000 AN
Bl OB AL K OEMEAE A B
SR \ H18.4.1
TEIXIAND | 9% 72
= AR % — IR
(22.10.1837E) | B2 HeRT




¥ b 4 | SN HR S e |
2. PEE YIS DRI (HA7: 1) 3. 100K Y4 7= DR (HAL: TH)
O O 50~99K
QURIE | 22| 23K 2EHE | 23EHE | ABETHY
H_H H H (224£%)
1 & 1% | 1,214,051 1,259,376| 1,167,720 1 R Iz | 1,311,850 1,216,375 1,343,468
= ¥ X %% 1,009,689 1,013,449 915,542 |(1) E ES 1] %[ 1,055,676 953,690| 1,063,624
7N BRSO AR 554,636 544,793 524,833 A BRI AR 567,493 546,701 546,652
A4 4 kO 3K 257,945 254,709 251,630 g kI 2% 265,322 262,115 407,561
v DO E I A 197,108 213,947 139,079 fit & 3 A # & 197,917 109,063 53,757
fih = 3 & #H & 170,000 190,000 104,700 @ E % 4 U i 193,674 232,477 267,186
= OB & I AR 582 258 459 ft & & #fi B & 24,688 24,688 40,501
AR ATE T I 8,173 8,810 17,457 fih = 3 & 1 & 147,791 194,628 191,387
= kAR OUX AR 3,219 2,698 4,931 (@ % B Al A 62,500 30,208 12,658
z D it 15,134 12,181 11,532 fil = § & A & 62,500 20,833 11,252
@ E ¥ 4 I i 204,362 185,927 223,178] |2 #& # M| 1,237,588 1,247,141 1,362,088
7 S HRIE L OV Y 4 43 30 26 | E 2 # | 1,132,884 1,145,082 1,278,031
A & # ¥ OB A - - - B B # 5 & 613,448 615,861 666,733
4 oM B & - - - ) Bt # 133,078 142,835 218,689
— H#iE AT R M B & 185 8,325 - b3 B # 69,093 72,291 149,186
4 M = 3 4 B & 27,750 23,700 23,700 % # 296,048 300,192 297,082
& F A M e 166,154 141,879 186,843 %= it £ 123,483 126,021 108,223
¥ BREAN G IR - - - A T = S | € ¢ 88,595 80,923 83,305
7 OO EENMLLE 10,230 11,993 12,609 wEost W & 1,022 801 3,254
(CHIE S ! B S B = - 60,000 29,000 |@E ¥ 4 # H 104,703 102,058 72,613
55 il 2% G MO\ 4 - 60,000 20,000 5B N I S\ 86,664 81,742 30,209
2 R # | 1,216,231 1,188,084| 1,197,255 | # Al # % - - 11,444
(e % # M| 1,111,700 1,087,569] 1,099,279| |#% w il Ea 11,763 - 23,417
7B OB & 5 # 592,914 588,910 591,227 |#% w # P - 60,974 43,251
A # #F # 125,101 127,755 137,122| [t F Ea 74,263 - 27,149
3K i # 60,772 66,329 69,399 |l iz ! P - 30,766 45,769
moE M OB & 17,129 15,487 12,889] | M FHIEALCEERIFI R 2 BRL) 370,395 328,378 285,645
7 # 287,248 284,206 288,184 |#& H UL < W 101.0 95.1 98.5
& o # 16,696 12,298 8,949 |E ¥ ¥ X K E 93.2 83.3 83.2
b T, N ¢ 21,770 21,643 22,491| | M2 FHgR A G e R SRR Hr 35.1 34.4 26.9
% it B 115,503 118,544 120,980
%z S 7 208 286 252 4. BRI ORI (W7 : 1)
RSN I I ¢ 612 - - O
R A ey 17,462 19,304 23,655 H H 2UEIE 2URIE 2RI
e %) 1 114,997 112,131 111,857 1 4B ES & - - 37,000
- B o A & 104,626 85,051 77,686 2 fit = FH & & - - -
+ & PE W R # 1,153 666 4,291 B3 fh & 3 a4 79,533 94,421 84,757
VBT TR - ¢ 658 981 769 2K4{m%§+1%)\!£ - - -
ik # 189 454 273 5 fih 2 3 Al B & 6,563 - -
& e 469 527 403 M) E (R ) i B) & - - -
e %) 1 - - 93 7T % D s - - -
@E ¥ 4 % H 104,531 100,515 97,976 " Mo A # (@ 86,096 94,421 121,757
VIS S N | B -\ 87,843 83,197 78,472 | A | A~ AR () - - -
& % F O OA 86,463 82,412 78,223 ATARRER W1 T AR A C)] - - -
=N o AN 1,380 785 249 i g (@-{b)+e)} () 86,096 94,421 121,757
A AR FE R GE A - - - ! J S =S~ ¢ 6,250 12,176 41,977
v R #E kR - - - |kl 4 2k EEE & 119,430 123,481 127,135
T M AE B OE O OH - - - W3 it R A 4 - - -
A b - - - [*l = o it - - -
71 O E 3 A2 16,688 17,318 19,504 fi 53 H it (e 125,680 135,657 169,112
@%F B #H Kk - - - ZE| A RE (A) (D-(e) (O 39,584 41,236 47,355
as w # A A 2,180 11,292 A 58,535) |l R4 ) E R R A 39,584 41,236 47,355
#ll iz i A 2,180 71,292 A 29,535] ||z MU AL E - - -
RO XK & 2,464,337 2,393,045] 2,422,580 |A|3 kB T E & - - -
B & B[ 109,787 - -1 [Hls =2 o - - -
~ OB OB Ok % 10.9 - - " 5 7t 39,584 41,236 47,355
fit &= 3 A & B B 363,904 415,579 335,243 |4l TA U IR A 2 ZH(O-(g) - - -
(& ARBYIN 5y %5 Te) 450,000 510,000 420,000 SRR AT C AR - RFATOR - - -




[ wimes | Podhsmg |

5. MEE I HTICBE 35

O 50~995K O 50~99pK
224F 23MFRE | BB 224FFE 23R | BT
H A (224F ) H H (224£)%)
— % 80.8 75.6 724 10 #W OB K (R - -
S 78.7 63.2 74.1 1 # o R (%) -
1 RRA =R W - - -1 | 12](1) ERIZEFIS
(%) R - - -1 =] ABERIUER (%) - 0.1 1.5
JYE - - -1 | BH ) ERIZERIS
Gl 80.1 71.5 72.6] |z MUGE (%) - 0.6
2 SERITERE B A (— R IR) 26.4 19.2 22,9 | 48| (3) Skt G R Aok
3 EESR LA SR 6.2 6.2 MRS OEE (%) 9.4 9.4 12.6
4 1(1) 1HEY ABE 77 69 50 13[(1) ERR 4.2 5.2 7.1
Bl BEHON |k 197 198 147 | —|@| 7 FHi#hw 39.6 39.6 35.8
(2) FMR BB L3 (%) 171.5 192.6 207.8] |O ﬁ A HEFERD 9.4 8.3 11.5
|G WA | Az 18.9 14.5 98| |O gE v FikF 15.1 14.1 10.3
1A1H sk 32.4 27.9 20.4| | WE|py| = Bt 64.1 62.0 57.6
| Yo | B | ARt 1.3 1.2 L3 | 2] (3) HAIEM 3.1 3.0 3.2
BN | fBM | Sk 2.2 2.3 2.7 <[ (@) FHEHM 14.3 14.3 10.3
5 7 A 78 19,408 20,891 21,403 0 |(5) Fa B 1.0 1.0 4.2
& b's 514 458 548| | W] (6) e HrERRg 3.1 3.0 2.9
| = 5 2,076 2,672 1,522 | B[ EeRmBAE 4.1 4.1 3.2
I E - 503 524 1,615 | #|(®) =ofih 2.1 1.0 9.0
E I #H 723 819 842 (9) &8 95.9 93.6 97.5
—| kO R 448 483 504 |14 1ENY | EEEE 15,884 15,409 19,355
A A BE OB 13,051 13,836 12,269 EEEE |7 &% 15,064 14,332 15,625
I —|  ABEREAEHRE 1,790 1,656 1,501 (F1) A Fh I 544 839 2,667
H O fh 302 443 2,702
ER: % 5,291 5,202 8,017| 6. HkFERIKE 525 B9 20
7= w2 B 458 461 276 O 50~99F&
0 B2 8 1,870 1,157 1,013 204FFE PREGD S W] )
2z & 3K 22 24 1,901 H H (224EJ%)
U s it 321 305 407 1 FHE
Al @ - F Al 142 117 585 (1) F¥ta5 A8 FH) 472 434 500
Al i3 1,276 1,271 1,309 (2) ¥ %) 43 41 45
. P I 440 412 477 (3) I FRBRAES (4F) 18 17 22
- O fh 762 1,455 2,048 2 [ERR
ZERPNEE PN 10,490 10,564 12,365 1) SE¥ke5-H %6 (FH) 1,697 1,551 1,666
(2 BE1A1R | EAH 538,023 447,529 373,045 (2) ¥ (%) 55 55 48
MBI (H)| Fik 36,507 36,577 49,456 (3) F-HIFRBRAES (4F) 27 28 20
6 (1) BEIALR | #I 211 220 1,250 3 FE N
Epa/E S GERRER ) 659 724 679 (1) FEHFe 5 A& (TM) 458 467 455
(1) Gl 870 944 1,929 (2) P (%) 44 45 42
(@) ABEBEEIALH Y7 (3) HJRRERAEHL () 16 17 18
Vs EMEE (1) 552 513 329 4 HEEFERAT
3) (2 S 96.3 78.2 116.9 (1) FHFe5 A (TM) 604 603 482
A EMERZER | E 146.8 153.9 113.3 (2) ¥ (%) 59 60 50
(%) it 134.6 136.2 115.7 (3) TIFRRERAEL (4F) 40 40 27
PRI | (1) BEIEEHICA 11.2 12.2 18.0 5 ERHEME
NIZHRFF2[(2) FRAUA 10.2 10.6 9.4 (1) FHe 5 A% (TM) 490 560 461
EIE (%) [ (3) BRI 4.2 4.1 3.9 (2) I (%) 44 46 43
8 XN (1) Wk B Ae G- 58.1 64.6 58.8 (3) FHIRRERAELL () 15 17 18
Wi B[ (2) 6.5 7.6 14.0 6 TOfIEE
FG (%) | (3) ZoprErE: 4.5 6.0 5.6 (1) FHe 5 A% (TM) - 369
9 | (1) HE100 S VRAEFE 187.4 192.4 197.5 (2) I (%) - 46
| @ " X5 10.8 13.0 12.0 (3) FHIRRERAELL () - 18
(@) mtpasomaieg | 47597 ar147) 53183 [ 7 2mkA
;f (@) 7 HRERACTH) 27,247 27,356 31,164 (1) FHe5- A (TM) 536 561 556
e [ (5) XHREAHT A K0 XH K 4,132 4,776 3,535 (2) FF)F-n (%) 45 46 44
Bl » XBULAGER) 16,863 16,026 14,314 (3) TIJHRRERAEL () 18 18 20




¥ b 4 PN H g e
7. BENGZEE T 50 (BT - 1) (BAfT - 1)
EE EOE
204EJE 234ESE 224EFE 234EE
H _H H H
1|7 M = 7 I Y AE 173,000 104,700 Q|7 = F | KR - -
A M & | FHREAKE 190,000 104,700 K MeoON & | IR 60,000 20,000
= | (7 , B e 4 103,400 71,500 Iy & 32 Be | g% 4 - -
1D s o b ’ B 50 | B
* ESE YN 103,400 71,500 ) e # | TR - -
L) PR A | R ER 69,600 33,200 Wl = o | FEERAK 60,000 20,000
I | 2% 17 B | S 86,600 33,200 2 |a B ) A - -
ik s O ammma |20
) = o fh | EeAKE - - ESCYN 1| - -
Q|7 = F | KA 23,700 23,700 Bl 7 & & ke B | R - -
w8 & | A 23,700 23,700 ( & & ) | E#eAHE - -
(7) WFZEmr s 2 | I % %0 1,000 1,000 Al B % %k B | Aug - -
i e | A 1,000 1,000 (Mt ek ok B #) | F2ieAsd - -
() =R e | R MEEH - - eIl I/ VAR T G A P - -
kR R B | A - - ARV B - IS YN - -
() £ % 8 | A U 12,200 12,200 Elx % D il | S KA - -
# A | FEg AR 12,200 12,200 (2) fth = X UE % 82,232 84,757
@ & F S g 10,500 10,500 hd A H & | FEARAKE 94,421 84,757
L A N Y - -
£ A & w | FRAE 10,500 10,500 TR R W B A 82,232 84,757
B i, H % - - A ( & & ) |F=zeAm 82,232 84,757
$EE E -
ES YN - - S OB B % B | A - -
Sl BEFELRo | &4 - - & (R BR®) | 2iAsE 12,189 -
i T &b B Y | A - - v % ) fill | SEMEAKE - -
@) 2 3 B | g e g - - 3 o 48 - -
wirsy | D waanmma | S
% #h | RN - - FE N - -
Wl = o i | EeAs - - 7 o ol ] - -
- — DI B E I
4 = F Ik Ut %H 41,068 106,843 ESC YN 1| - -
i a & | AR 141,879 186,843 4 % ) fi | FHRAKE - -
(7) % 3% & B | HE e 8,730 8,730 . B ] 237,768 235,243
| R 3 A E A |
% C B ) | EA%E 8,730 8,730 ESU YN 415,579 335,243
A Y A - - U % 82,232 84,757
()«%ﬂﬁ@aﬁé %,E, 4 B KM E O 4 Rt %E%ﬁ
ESC YN - - ESUYN 1] 94,421 84,757
A %R 10,278 76,193 . HE ZR 320,000 320,000
(W)K%‘%'%tmli e 58 N & A F i
ESCYN | 111,089 156,193 ESCYN i) 510,000 420,000
e UE % - -
TR - .
EX N - - 8. AR5
*F % % - - R
@ K oAb E O %, " 224F i 234
& ESCIN - - HOH
e %5 — — 1> E & b2 =
@) R U A %R 1 & ¥ & 7 CY _ |—1 2,349,511 2,259,376
ESC N | - - Bk & 2,349,511 2,222,376
) Ve TF— | %M 1,460 1,460 ) & I & &% # e - -
voa v E | ERAKE 1,460 1,460 2 5 A R - -
) F # M| K - - (YR /N o G I N R - -
#® R P | IR - - ” (3) i R 17 - 37,000
Us . Ut %H - - 4) T R AT LU A D 4 ko - -
()Hﬁééﬁiﬁﬁ #E 4 i T LL A j*%éfa‘?]
ESC YN - - () i %5 N 5 ME - -
@ ) e 14,600 14,600 = | (6) o i =& - -
ESCUN | 14,600 14,600 (M B & R e P 4 fE - -
v 7% g N & - .
() B Pl 6,000 5,860 (8) fF 7N &
ESC YN i 6,000 5,860
W % o | FEEAHE - -




